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BT-401 (AD/AG/AN/AT/CUCS/ICT/CO/EEEX/FTATMIMMY) (GS)
B.Tech., IV Semester
Examination, June 2023
Grading System (GS)
Mathematics - I1I

Time : Three Hours
Maximum Marks : 70

Nete: i) Attempt any five questions.
=} aig weAl @l gal P
ii) All questions carry equal marks.
Tft weel & A 3F B
iii)In case of any doubt or dispute the English version
question should be treated as final.
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1. a) Find the real root of the equation x° —3x —5=0 correct
to four places of decimals by Newton Raphson method.

e YoaA faftr &1 59 FR gY 9K SuIedE W &6
FHERO x* —3x-5=0 &% IAfRF TA 7 HRY

b) Evaluate
oA, 3 Hifg

Afax—1)(bx* =1)(ex* —1);h=1
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2. a) Using Newton’s divided difference formula, find f{8) and

S (15) from the following table.
~eH & R 3R G o1 Suam o3, B et
F(8) 3R £(15) @it
X 4 5 7 10 11 13
F(x){ 48 | 100 [294 | 900 [1210 | 2028 |
b) Find the real root of the equation xe* — 3 =0 correct to
three decimal places by Regula Falsi method.

QEaTqiTacﬂ’ xe™ —3 =0 gftamor a'i"ﬁfiﬁl?ﬁﬂ q¥Heg
TRAFT G HAF T PR '

3. a) UseSimpson’s 1/3 and 3/8 rule to evaluate the following,

1 dx
'F“l+.:|:1
Hence obtain the approximate value of t in each case,
Ry 1/3 e 3/8 Pr &1 ST % &Y & SRt
1 dx
'[°1+x
w3 Y n o1 wfivme @ s Fifm)

b) Compute the value of the following integral by trapezoidal
Rule.

ersligea Fram grt PreafaRea Ssmaseior & o 6t moFT 3

J:: (S:'m: ~log, x +e* )dx

2

4. a) Solve the following system by Gauss Siedel iteration
method.

T Rsat 32 Rt gry Tffaor P oY g1 iRl
27x + 6y — z=85

6x+ 15y +2z=172

x+y+54z=110
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'b) Use Simpson’s rule to find approximate value of the
following integral. .
fyra Fad 1 SRR R 8 WIS Ol [lsbe A1 S
Hifern
2 dx

X

5. a) Use Euler’s method compute the solution of

%:PI_,R with (0)=1atx=0.1.

mﬁﬁ'ﬁmﬁﬂﬁﬁi_ﬂxzﬂ.lﬂy{ﬂj=lﬂ5w

%:yz—xz #qﬁmﬁﬁql

b) Use Euler’s Modified method to solve the equation

%=x+}h #0) =1, #=0.2 compute y(1)

%=x+y.}{n}=1,h=u.zammq‘fawssﬁﬁrﬁr
i @A € (1) 1 A FR B

6. a) Use Laplace transform to solve the Initial Value
Problem.

ARy T W1 Y Bl PR & fAY ARy el
IUERT FR |
3 +2y =26sin3r, ¥(0) =3
b) Evaluate
1= sha HAY
L{r cos at)
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Evaluate
o g Fifor

[

(1+s)

Evaluate

A ST Dhifore

L{rz e-sr}
Find mean of Poisson distril::-_uti-:)n.
UTRT faR0T & W ST BIT
Write Short note on Exponential Distribution.
Tl faawor o= fem feooft forlRagi
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